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1. Understanding the cultural _ of a society is important for effective communication in an increasingly
globalized world.
(A) adoption (B) landmark (C) aspect (D) sample

2. The beautiful details of the architecture _ the cultural heritage and values of the ancient civilization.
(A) afford (B) reflect (C) insert (D) shelter

3. The charity organization provides help to families having ___ difficulties because of unexpected medical
expenses or job loss.
(A) financial (B) flexible (C) distinct (D) doubtful

4. Insome cultures, one'ssocial _is determined by factors such as occupation, education, and family
background.
(A) quantity (B) prosperity (C) evidence (D) status

5. It'simportantto learnhowto  Dbetween reliable sources of information and fake news on the Internet.
(A) violate (B) rescue (C) distinguish (D) project

6. Athletes should maintaina(n) __ diet to support their physical performance and overall health.
(A) proper (B) apparent (C) literary (D) immediate

7. The population in the urban area continues to grow, leadingto _ demands on housing and infrastructure.
(A) innovative (B) excessive (C) relative (D) liberal

8. The painting served as a powerful ___ of the artist's inner struggle and conflict, leaving a deep impression on
viewers.
(A) symbol (B) sacrifice (C) column (D) agriculture

9. Theceremonywasa(n)  occasion. Heartfelt believers came here to search for blessings and inner peace.
(A) efficient (B) brutal (C) innocent (D) religious

Il *3F (% 10421 % 1548 > £ 124 )

10. Mydad __ serious backaches and often feels painful so he needs to take painkillers to release the agony.
(A) attends to (B) suffers from (C) puts out (D) takes over

11. The teacher,  the school principal, believed that the boy who violated many school rules should be
suspended for a week.
(A) along with (B) above all (C) on the whole (D) on average

12. When Gary is admitted to two prestigious universities, heis _ atough dilemma to choose which one he
wants to attend.
(A) envious of (B) suspicious of (C) charged with (D) faced with

13. The rapid increase in carbon emissions __ to the environment and contributes to climate change.
(A) takes a stand (B) catches a glimpse (C) poses a threat (D) pays attention

14. Many teenagers today are _their smartphones, spending hours each day scrolling through social media.
(A) associated with (B) addicted to (C) destined for (D) startled by

15. The Earth's atmosphere is __ various gases, including nitrogen, oxygen, and carbon dioxide.
(A) resolved to (B) opposed to (C) consisted of (D) composed of
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16.  you keep asking me all day, I won’t allow you to go out at night alone.
(A) In spite of (B) Since (C) Even if (D) Only if

17. The teacher's instructions require that all homework assignments by the end of the week.
(A) submitted (B) be submitted (C) submitting (D) submit

18. Studying ina(n) ___ country's university can greatly improve your language skills and cultural understanding.
(A) spoken English (B) speaking English (C) English-spoken (D) English-speaking

19. You can choose _ book you prefer from the library for your book report assignment.
(A) whichever (B) whether (C) wherever (D) no matter

20. We left our classroom with the door . That’s why a thief got into the classroom easily and stole several
wallets.
(A) opening (B) opened (C) open (D) being opened

IV. 4] (% 21485 % 2548 > ¥ 10 &)

21. _ many ups and downs together, the couple are now a model of the perfect match.
(A) Having experienced (B) To experience (C) Experienced (D) Being experienced
22. If the mountain and ocean one day, | would marry you, but in reality, | will never accept your proposal!
(A) disappear (B) had disappeared (C) disappear (D) were to disappear
23. According to the research, 70% of the Earth's surface is estimated by water.
(A) that it is covered (B) to cover (C) to be covered (D) to being covered
24. the sun sets do the nocturnal animals active at night emerge from their hiding places.
(A) If only (B) Only when (C) Not to mention (D) No longer
25. Christmas is around the corner. Jessie wondered for her vacation.
(A) who to come (B) when to do (C) which to play (D) where to go

V. B p% (%2643 % 3048 = 10 » )

Throughout World War I, music was a prominent feature on the home fronts and the battlefields. In the US, most
homes had a piano, and at least one member of each family knew how to play it, providing a common form of
entertainment and socialization. Therefore, popular music saturated the society and reached into all of its corners,
forming a great medium for conveying messages.

Recognizing this capability, the American government often used music as an effective means to inspire zeal,
pride, patriotism, and action in its citizens. This was done to gain manpower, homeland support, and funds.
Composers and publishers readily cooperated and adopted these new musical motifs to earn money from a large
population rallied by war. The public was eager to respond to these sentiments by purchasing pro-war music. Besides
these reasons, composers and publishers often wrote music to promote their personal wartime sentiments. Dramatic
graphics and additional messages printed on sheet music provided extra inspiration to the messages expressed by the
lyrics and melodies, markedly increasing their capabilities as propaganda vehicles.

Music during World War | was often employed to make people feel excited and willing to help, and sometimes it
made people feel bad if they didn't support the war. Much of the music released during World War | greatly

influenced social and political attitudes, thereby serving as an effective tool for private citizens and governments. For
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example, politicians use musical fanfare at public rallies to build momentum and generate emotional responses in
support of their causes. This is evident in political campaign songs and protest songs, particularly during the 1960s
and 1970s when a majority of Americans grew weary of the Vietnam War. In this way, music provides a weapon of
social change to achieve specific goals.

26. What is the main idea of this article?
(A) Politicians never use music as a tool to advocate certain public policies.

(B) Music plays an important role in stirring people’s emotions during wartime.
(C) During World War I, the change of music style caused great social revolution.
(D) Messages about political or social attitudes inspire many composers.
27. Which of the following statement is TRUE?
(A) In 1960s and 1970s, the most prominent form of music may be the romantic songs.
(B) Composers didn’t cooperate to write songs for promoting political causes.
(C) Music is significant during wartime because it can soothe the soldiers.
(D) Music used as the propaganda can arouse people’s patriotism and pride.
28. What can be inferred from this article?
(A) Music provides a pleasant and relaxing atmosphere during wartime.
(B) Composers can’t make ends meet during wartime because people don’t care about music.
(C) Music can be used as a tool to manipulate people’s emotions and sentiments.
(D) It’s immoral to utilize art forms to promote political campaigns or warfare.

29. Which of the following is closest in meaning to “saturate” in the first paragraph?

(A) Influence. (B) Introduce. (C) Suppose. (D) Signal.
30. Which of the following would be the theme of the lyrics written during World War 1 in the US?
(A) Coldness. (B) Patriotism. (C) Fascination. (D) Homesickness.
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31. Drunkdrivingcan __ fatal car accidents. Everyone should avoid drinking alcohol before they hit the road.
(A) protest (B) engage in (C) giverise to (D) arise from (E) result in
32. Ispendnearly 12 hoursaday  such a difficult scientific project.
(A) fulfilling (B) conducting (C) surrenderingto (D) carrying out (E) imposing on
33. The Taj Mahal isbuilt ___ a beautiful and touching love story in ancient India.
(A) in memory of  (B) in honor of (C) in remembrance of (D) in need of (E) in search of
34. With numerous positive reviews from the critics, most people believe that the movie is :
(A) worthless (B) worth watching (C) worthy to watch (D) worthy of being watched (E) worth
35. Anyone who does not the law will be punished.
(A) comply with (B) insist on (C) abide by (D) rely on (E) obey
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(A) We pursue more fame and power, so do we become unhappy.
(B) The more we pursue fame and power, the unhappier we tend to become.
(C) The more we pursue fame and power, the less content we are likely to be.
(D) The more we chase after fame and power, the less happy we become.
(E) We chase after more fame and power, the more unhappy we will be.

7. EN I GEAFEY LEFFOIRTYEG o
(A) Despite the bad weather, the Scout activities proceed as scheduled.
(B) Though having bad weather, the Scout activities proceed as scheduled.
(C) Despite the fact that there had bad weather, the Scout activities proceed as scheduled.
(D) If only the weather is bad, the Scout activities proceed as scheduled.
(E) Although the weather is bad, the Scout activities proceed as scheduled.

3. EN I+ ERAFTFHALT § > v EERR -
(A) There can’t be predicted if the military operation will succeed or not.
(B) It's still uncertain whether this military operation will succeed or not.
(C) No matter the military operation will succeed or not can’t be predicted.
(D) The success of this military operation remains unpredictable.
(E) There is no predicting whether the military operation will succeed or not.

39. sE ML FEhe Fr R EFEG nauEiR o AV E‘Efifuz“T H 2P gk E o
(A) If it had not been for your advice back then, I might have made irreparable mistakes.
(B) Were it not for your advice back then, I would make irreparable mistakes.
(C) Without your advice back then, I might have made irreparable mistakes.
(D) But for your advice back then, | will make irreparable mistakes.
(E) If it weren't for your advice back then, I will make irreparable mistakes.

40, GE Mt FEeheo S WP LRI A NALERE ML o
(A) Before you leave, remember to turn off the gas to avoid any unexpected incidents.
(B) Before you leave, remember to turn off the gas so that any unexpected incidents should happen.
(C) Before you leave, remember to turn off the gas in case of any unexpected incidents.
(D) Before you leave, remember to turn off the gas for fear that any unexpected incidents.
(E) Before you leave, remember to turn off the gas for fear of any unexpected incidents.
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